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NEW QUESTION 1
A security analyst needs to make a recommendation for restricting access to certain segments of the network using only data-link layer security. Which of the
following controls will the analyst MOST likely recommend?

A. MAC
B. ACL
C. BPDU
D. ARP

Answer: A

NEW QUESTION 2
Company engineers regularly participate in a public Internet forum with other engineers throughout the industry. Which of the following tactics would an attacker
MOST likely use in this scenario?

A. Watering-hole attack
B. Credential harvesting
C. Hybrid warfare

D. Pharming

Answer: A

NEW QUESTION 3
Which of the following control sets should a well-written BCP include? (Select THREE)

A. Preventive

B. Detective

C. Deterrent

D. Corrective

E. Compensating
F. Physical

G. Recovery

Answer: ADG

NEW QUESTION 4
A user recent an SMS on a mobile phone that asked for bank delays. Which of the following social-engineering techniques was used in this case?

A. SPIM

B. Vishing

C. Spear phishing
D. Smishing

Answer: D

NEW QUESTION 5
An organization needs to implement more stringent controls over administrator/root credentials and service accounts. Requirements for the project include:

> Check-in/checkout of credentials
> The ability to use but not know the password
> Automated password changes

> Logging of access to credentials
Which of the following solutions would meet the requirements?

A. OAuth 2.0

B. Secure Enclave

C. A privileged access management system
D. An OpenID Connect authentication system

Answer: D

NEW QUESTION 6
A critical file server is being upgraded and the systems administrator must determine which RAID level the new server will need to achieve parity and handle two
simultaneous disk failures. Which of the following RAID levels meets this requirements?

A. RAID 0+1
B. RAID 2
C.RAID 5
D. RAID 6
Answer: C

NEW QUESTION 7
A global pandemic is forcing a private organization to close some business units and reduce staffing at others. Which of the following would be BEST to help the
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organization’s executives determine the next course of action?

A. An incident response plan
B. A communications plan

C. A disaster recovery plan
D. A business continuity plan

Answer: D

NEW QUESTION 8
Which of the following are the MOST likely vectors for the unauthorized inclusion of vulnerable code in a software company’s final software releases? (Select
TWO.)

A. Unsecure protocols

B. Use of penetration-testing utilities
C. Weak passwords

D. Included third-party libraries

E. Vendors/supply chain

F. Outdated anti-malware software

Answer: AD

NEW QUESTION 9
A company recently experienced a data breach and the source was determined to be an executive who was charging a phone in a public area. Which of the
following would MOST likely have prevented this breach?

A. A firewall

B. A device pin

C. A USB data blocker
D. Biometrics

Answer: C

NEW QUESTION 10
Which of the following job roles would sponsor data quality and data entry initiatives that ensure business and regulatory requirements are met?

A. The data owner

B. The data processor

C. The data steward

D. The data privacy officer.

Answer: C

NEW QUESTION 10

A network engineer needs to build a solution that will allow guests at the company’s headquarters to access the Internet via WiFi. This solution should not allow
access to the internal corporate network, but it should require guests to sign off on the acceptable use policy before accessing the Internet. Which of the following
should the engineer employ to meet these requirements?

A. Implement open PSK on the APs
B. Deploy a WAF

C. Configure WIPS on the APs

D. Install a captive portal

Answer: D

NEW QUESTION 12
After a ransomware attack a forensics company needs to review a cryptocurrency transaction between the victim and the attacker. Which of the following will the
company MOST likely review to trace this transaction?

A. The public ledger
B. The NetFlow data
C. A checksum

D. The event log

Answer: A

NEW QUESTION 15

A malicious actor recently penetration a company’s network and moved laterally to the datacenter. Upon investigation, a forensics firm wants to know was in the
memory on the compromised server. Which of the following files should be given to the forensics firm?

A. Security

B. Application

C. Dump

D. Syslog

Answer: C
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NEW QUESTION 17
A security analyst has received an alert about being sent via email. The analyst’s Chief information Security Officer (CISO) has made it clear that PIl must be
handle with extreme care From which of the following did the alert MOST likely originate?

A. SIMIME
B. DLP

C. IMAP
D. HIDS

Answer: B

NEW QUESTION 20
A security analyst receives the configuration of a current VPN profile and notices the authentication is only applied to the IP datagram portion of the packet. Which
of the following should the analyst implement to authenticate the entire packet?

A. AH

B. ESP
C. SRTP
D. LDAP

Answer: B

NEW QUESTION 25
A recently discovered zero-day exploit utilizes an unknown vulnerability in the SMB network protocol to rapidly infect computers. Once infected, computers are
encrypted and held for ransom. Which of the following would BEST prevent this attack from reoccurring?

A. Configure the perimeter firewall to deny inbound external connections to SMB ports.

B. Ensure endpoint detection and response systems are alerting on suspicious SMB connections.
C. Deny unauthenticated users access to shared network folders.

D. Verify computers are set to install monthly operating system, updates automatically.

Answer: A

NEW QUESTION 27
Which of the following BEST explains the difference between a data owner and a data custodian?

A. The data owner is responsible for adhering to the rules for using the data, while the data custodian is responsible for determining the corporate governance
regarding the data

B. The data owner is responsible for determining how the data may be used, while the data custodian is responsible for implementing the protection to the data
C. The data owner is responsible for controlling the data, while the data custodian is responsible for maintaining the chain of custody when handling the data
D. The data owner grants the technical permissions for data access, while the data custodian maintains the database access controls to the data

Answer: B
NEW QUESTION 29

A security analyst needs to determine how an attacker was able to use User3 to gain a foothold within a company's network. The company's lockout policy requires
that an account be locked out for a minimum of 15 minutes after three unsuccessful attempts. While reviewing the log files, the analyst discovers the following:
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Which of the following attacks MOST likely occurred?

A. Dictionary

B. Credential-stuffing
C. Password-spraying
D. Brute-force

Answer: D
NEW QUESTION 34
A network technician is installing a guest wireless network at a coffee shop. When a customer purchases an Item, the password for the wireless network is printed

on the recent so the customer can log in. Which of the following will the technician MOST likely configure to provide the highest level of security with the least
amount of overhead?
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A. WPA-EAP
B. WEP-TKIP
C. WPA-PSK
D. WPS-PIN

Answer: A

NEW QUESTION 37
The facilities supervisor for a government agency is concerned about unauthorized access to environmental systems in the event the staff WiFi network is
breached. Which of the blowing would BEST address this security concern?

A. install a smart meter on the staff WiFi.

B. Place the environmental systems in the same DHCP scope as the staff WiFi.
C. Implement Zigbee on the staff WiFi access points.

D. Segment the staff WiFi network from the environmental systems network.

Answer: D

NEW QUESTION 38
To secure an application after a large data breach, an e-commerce site will be resetting all users’ credentials. Which of the following will BEST ensure the site’s
users are not compromised after the reset?

A. A password reuse policy

B. Account lockout after three failed attempts
C. Encrypted credentials in transit

D. A geofencing policy based on login history

Answer: C

NEW QUESTION 41
A Chief Security Office's (CSO's) key priorities are to improve preparation, response, and recovery practices to minimize system downtime and enhance
organizational resilience to ransomware attacks. Which of the following would BEST meet the CSO's objectives?

A. Use email-filtering software and centralized account management, patch high-risk systems, and restrict administration privileges on fileshares.

B. Purchase cyber insurance from a reputable provider to reduce expenses during an incident.

C. Invest in end-user awareness training to change the long-term culture and behavior of staff and executives, reducing the organization's susceptibility to phishing
attacks.

D. Implement application whitelisting and centralized event-log management, and perform regular testing and validation of full backups.

Answer: D

NEW QUESTION 46
A network administrator would like to configure a site-to-site VPN utilizing iPSec. The administrator wants the tunnel to be established with data integrity
encryption, authentication and anti- replay functions Which of the following should the administrator use when configuring the VPN?

A. AH

B. EDR
C.ESP

D. DNSSEC

Answer: C

NEW QUESTION 50
A system administrator needs to implement an access control scheme that will allow an object’s access policy be determined by its owner. Which of the following
access control schemes BEST fits the requirements?

A. Role-based access control

B. Discretionary access control
C. Mandatory access control

D. Attribute-based access control

Answer: B

NEW QUESTION 54

A network engineer has been asked to investigate why several wireless barcode scanners and wireless computers in a warehouse have intermittent connectivity to
the shipping server. The barcode scanners and computers are all on forklift trucks and move around the warehouse during their regular use. Which of the following
should the engineer do to determine the issue? (Choose two.)

A. Perform a site survey

B. Deploy an FTK Imager

C. Create a heat map

D. Scan for rogue access points
E. Upgrade the security protocols
F. Install a captive portal

Answer: AC
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NEW QUESTION 56
To reduce costs and overhead, an organization wants to move from an on-premises email solution to a cloud-based email solution. At this time, no other services
will be moving. Which of the following cloud models would BEST meet the needs of the organization?

A. MaaS
B. laaS

C. SaaS
D. PaaS

Answer: D

NEW QUESTION 57

A security analyst needs to generate a server certificate to be used for 802.1X and secure RDP connections. The analyst is unsure what is required to perform the
task and solicits help from a senior colleague. Which of the following is the FIRST step the senior colleague will most likely tell the analyst to perform to accomplish
this task?

A. Create an OCSP
B. Generate a CSR
C. Create aCRL

D. Generate a .pfx file

Answer: B

NEW QUESTION 60
An analyst needs to set up a method for securely transferring files between systems. One of the requirements is to authenticate the IP header and the payload.
Which of the following services would BEST meet the criteria?

A.TLS
B. PFS
C.ESP
D. AH

Answer: A

NEW QUESTION 61
A security analyst is looking for a solution to help communicate to the leadership team the seventy levels of the organization’s vulnerabilities. Which of the
following would BEST meet this need?

A.CVE
B. SIEM
C. SOAR
D. CVSS

Answer: D

NEW QUESTION 63
A security analyst needs to implement an MDM solution for BYOD users that will allow the company to retain control over company emails residing on the devices
and limit data exfiltration that might occur if the devices are lost or stolen. Which of the following would BEST meet these requirements? (Select TWO).

A. Full-device encryption
B. Network usage rules
C. Geofencing

D. Containerization

E. Application whitelisting
F. Remote control

Answer: AB

NEW QUESTION 68
Which of the following should be put in place when negotiating with a new vendor about the timeliness of the response to a significant outage or incident?

A. MOU
B. MTTR
C. SLA
D. NDA

Answer: C

NEW QUESTION 70
A security analyst needs to complete an assessment. The analyst is logged into a server and must use native tools to map services running on it to the server's
listening ports. Which of the following tools can BEST accomplish this talk?

A. Netcat
B. Netstat
C. Nmap
D. Nessus
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Answer: B

NEW QUESTION 74

A security analyst has been asked to investigate a situation after the SOC started to receive alerts from the SIEM. The analyst first looks at the domain controller
and finds the following events:
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Based on the analyst's findings, which of the following attacks is being executed?

A. Credential harvesting
B. Keylogger

C. Brute-force

D. Spraying

Answer: D

NEW QUESTION 77

A company uses wireless tor all laptops and keeps a very detailed record of its assets, along with a comprehensive list of devices that are authorized to be on the
wireless network. The Chief Information Officer (CIO) is concerned about a script kiddie potentially using an unauthorized device to brute force the wireless PSK
and obtain access to the internal network. Which of the following should the company implement to BEST prevent this from occurring?

A. A BPDU guard
B. WPA-EAP

C. IP filtering

D. AWIDS

Answer: B

NEW QUESTION 81

Which of the following describes the ability of code to target a hypervisor from inside

A. Fog computing
B. VM escape

C. Software-defined networking

D. Image forgery
E. Container breakout

Answer: B

NEW QUESTION 82

The following is an administrative control that would be MOST effective to reduce the occurrence of malware execution?

A. Security awareness training
B. Frequency of NIDS updates
C. Change control procedures

D. EDR reporting cycle

Answer: A

NEW QUESTION 84

An auditor is performing an assessment of a security appliance with an embedded OS that was vulnerable during the last two assessments. Which of the following
BEST explains the appliance’s vulnerable state?

A. The system was configured with weak default security settings.
B. The device uses weak encryption ciphers.
C. The vendor has not supplied a patch for the appliance.
D. The appliance requires administrative credentials for the assessment.
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Answer: C

NEW QUESTION 87
A company wants to deploy PKI on its Internet-facing website. The applications that are currently deployed are:

> www.company.com (main website)
> contactus.company.com (for locating a nearby location)

> guotes.company.com (for requesting a price quote)
The company wants to purchase one SSL certificate that will work for all the existing applications and any future applications that follow the same naming
conventions, such as store.company.com. Which of the following certificate types would BEST meet the requirements?

A. SAN

B. Wildcard

C. Extended validation
D. Self-signed

Answer: B

NEW QUESTION 91

A security analyst is using a recently released security advisory to review historical logs, looking for the specific activity that was outlined in the advisory. Which of
the following is the analyst doing?

A. A packet capture

B. A user behavior analysis

C. Threat hunting

D. Credentialed vulnerability scanning

Answer: C

NEW QUESTION 96

A university with remote campuses, which all use different service providers, loses Internet connectivity across all locations. After a few minutes, Internet and VolP
services are restored, only to go offline again at random intervals, typically within four minutes of services being restored. Outages continue throughout the day,
impacting all inbound and outbound connections and services. Services that are limited to the local LAN or WiFi network are not impacted, but all WAN and VolP
services are affected.

Later that day, the edge-router manufacturer releases a CVE outlining the ability of an attacker to exploit the SIP protocol handling on devices, leading to resource
exhaustion and system reloads. Which of the following BEST describe this type of attack? (Choose two.)

A. DoS

B. SSL stripping
C. Memory leak
D. Race condition
E. Shimming

F. Refactoring

Answer: AD

NEW QUESTION 101
A security analyst is reviewing logs on a server and observes the following output:
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Which of the following is the security analyst observing?

A. A rainbow table attack

B. A password-spraying attack
C. A dictionary attack

D. A keylogger attack

Answer: C

NEW QUESTION 105

A Chief Information Security Officer (CISO) needs to create a policy set that meets international standards for data privacy and sharing. Which of the following
should the CISO read and understand before writing the policies?

A. PCI DSS
B. GDPR

C. NIST

D. 1ISO 31000

Answer: B
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NEW QUESTION 110

A network administrator has been asked to design a solution to improve a company's security posture The administrator is given the following, requirements?
* The solution must be inline in the network

* The solution must be able to block known malicious traffic

* The solution must be able to stop network-based attacks

Which of the following should the network administrator implement to BEST meet these requirements?

A. HIDS
B. NIDS
C. HIPS
D. NIPS

Answer: D

NEW QUESTION 111
A company has limited storage available and online presence that cannot for more than four hours. Which of the following backup methodologies should the
company implement to allow for the FASTEST database restore time In the event of a failure, which being maindful of the limited available storage space?

A. Implement fulltape backup every Sunday at 8:00 p.m and perform nightly tape rotations.

B. Implement different backups every Sunday at 8:00 and nightly incremental backups at 8:00 p.m
C. Implement nightly full backups every Sunday at 8:00 p.m

D. Implement full backups every Sunday at 8:00 p.m and nightly differential backups at 8:00

Answer: B

NEW QUESTION 116
A cybersecurity analyst needs to implement secure authentication to third-party websites without users’ passwords. Which of the following would be the BEST way
to achieve this objective?

A. OAuth
B. SSO
C. SAML
D. PAP

Answer: C

NEW QUESTION 121
Which of the following disaster recovery tests is The LEAST time-consuming for the disaster recovery team?

A. Tabletop

B. Parallel

C. Full interruption
D. Simulation

Answer: D

NEW QUESTION 124
A network administrator has been asked to install an IDS to improve the security posture of an organization. Which of the following control types is an IDS?

A. Corrective

B. Physical

C. Detective

D. Administrative

Answer: C

NEW QUESTION 127
Which of the following would be the BEST method for creating a detailed diagram of wireless access points and hot-spots?

A. Footprinting

B. White-box testing
C. A drone/UAV

D. Pivoting

Answer: A

NEW QUESTION 130

Local guidelines require that all information systems meet a minimum-security baseline to be compliant. Which of the following can security administrators use to
assess their system configurations against the baseline?

A. SOAR playbook

B. Security control matrix

C. Risk management framework

D. Benchmarks

Answer: D
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NEW QUESTION 132
In the middle of a cybersecurity, a security engineer removes the infected devices from the network and lock down all compromised accounts. In which of the
following incident response phases is the security engineer currently operating?

A. Identification
B. Preparation
C. Eradiction
D. Recovery

E. Containment

Answer: E

NEW QUESTION 137
Which of the following will MOST likely adversely impact the operations of unpatched traditional programmable-logic controllers, running a back-end LAMP server
and OT systems with human-management interfaces that are accessible over the Internet via a web interface? (Choose two.)

A. Cross-site scripting

B. Data exfiltration

C. Poor system logging

D. Weak encryption

E. SQL injection

F. Server-side request forgery

Answer: DF

NEW QUESTION 142
Which of the following scenarios would make a DNS sinkhole effective in thwarting an attack?

A. An attacker is sniffing traffic to port 53, and the server is managed using unencrypted usernames and passwords.

B. An organization is experiencing excessive traffic on port 53 and suspects an attacker is trying to DoS the domain name server.
C. Malware trying to resolve an unregistered domain name to determine if it is running in an isolated sandbox

D. Routing tables have been compromised, and an attacker is rerouting traffic to malicious websites

Answer: A

NEW QUESTION 147
Which of the following cloud models provides clients with servers, storage, and networks but nothing else?

A. SaaS
B. PaaS
C. laaS
D. DaaS

Answer: C

NEW QUESTION 151
A security analyst needs to produce a document that details how a security incident occurred, the steps that were taken for recovery, and how future incidents can
be avoided. During which of the following stages of the response process will this activity take place?

A. Recovery

B. Identification

C. Lessons learned
D. Preparation

Answer: C

NEW QUESTION 153
In which of the following risk management strategies would cybersecurity insurance be used?

A. Transference
B. Avoidance
C. Acceptance
D. Mitigation

Answer: A

NEW QUESTION 157

An organization just experienced a major cyberattack modem. The attack was well coordinated sophisticated and highly skilled. Which of the following targeted the
organization?

A. Shadow IT

B. An insider threat

C. A hacktivist

D. An advanced persistent threat

Answer:
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D

NEW QUESTION 161
When selecting a technical solution for identity management, an architect chooses to go from an in-house to a third-party SaaS provider. Which of the following
risk management strategies is this an example of?

A. Acceptance
B. Mitigation

C. Avoidance

D. Transference

Answer: D

NEW QUESTION 164

The Chief Financial Officer (CFO) of an insurance company received an email from Ann, the company’s Chief Executive Officer (CEO), requesting a transfer of
$10,000 to an account. The email states Ann is on vacation and has lost her purse, containing cash and credit cards. Which of the following social-engineering
techniques is the attacker using?

A. Phishing

B. Whaling

C. Typo squatting
D. Pharming

Answer: B

NEW QUESTION 168
A website developer is working on a new e-commerce website and has asked an information security expert for the most appropriate way to store credit card
numbers to create an easy reordering process. Which of the following methods would BEST accomplish this goal?

A. Salting the magnetic strip information

B. Encrypting the credit card information in transit.
C. Hashing the credit card numbers upon entry.
D. Tokenizing the credit cards in the database

Answer: C

NEW QUESTION 173
A company is implementing MFA for all applications that store sensitive data. The IT manager wants MFA to be non-disruptive and user friendly. Which of the
following technologies should the IT manager use when implementing MFA?

A. One-time passwords

B. Email tokens

C. Push notifications

D. Hardware authentication

Answer: C

NEW QUESTION 174
Which of the following BEST describes a security exploit for which a vendor patch is not readily available?

A. Integer overflow
B. Zero-day

C. End of life

D. Race condition

Answer: B

NEW QUESTION 178
Which of the following types of controls is a turnstile?

A. Physical

B. Detective
C. Corrective
D. Technical

Answer: A

NEW QUESTION 181
A user recently attended an exposition and received some digital promotional materials The user later noticed blue boxes popping up and disappearing on the
computer, and reported receiving several spam emails, which the user did not open Which of the following is MOST likely the cause of the reported issue?

A. There was a drive-by download of malware
B. The user installed a cryptominer

C. The OS was corrupted

D. There was malicious code on the USB drive
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Answer: D

NEW QUESTION 183
An organization hired a consultant to assist with an active attack, and the consultant was able to identify the compromised accounts and computers. Which of the
following is the consultant MOST likely to recommend to prepare for eradication?

A. Quarantining the compromised accounts and computers, only providing them with network access

B. Segmenting the compromised accounts and computers into a honeynet so as to not alert the attackers.
C. Isolating the compromised accounts and computers, cutting off all network and internet access.

D. Logging off and deleting the compromised accounts and computers to eliminate attacker access.

Answer: B

NEW QUESTION 184
A Chief Security Officer (CSO) is concerned about the amount of Pll that is stored locally on each salesperson’s laptop. The sales department has a higher-than-
average rate of lost equipment. Which of the following recommendations would BEST address the CSO’s concern?

A. Deploy an MDM solution.

B. Implement managed FDE.

C. Replace all hard drives with SEDs.
D. Install DLP agents on each laptop.

Answer: B

NEW QUESTION 188
Which of the following would be the BEST resource lor a software developer who is looking to improve secure coding practices for web applications?

A. OWASP

B. Vulnerability scan results
C. NIST CSF

D. Third-party libraries

Answer: A

NEW QUESTION 189
A network administrator is setting up wireless access points in all the conference rooms and wants to authenticate device using PKI. Which of the following should
the administrator configure?

A. A captive portal
B. PSK

C. 802.1X

D. WPS

Answer: C

NEW QUESTION 194
A network engineer needs to create a plan for upgrading the wireless infrastructure in a large office Priority must be given to areas that are currently experiencing
latency and connection issues. Which of the following would be the BEST resource for determining the order of priority?

A. Nmapn

B. Heat maps

C. Network diagrams
D. Wireshark

Answer: C

NEW QUESTION 195
A small business just recovered from a ransomware attack against its file servers by purchasing the decryption keys from the attackers. The issue was triggered by
a phishing email and the IT administrator wants to ensure it does not happen again. Which of the following should the IT administrator do FIRST after recovery?

A. Scan the NAS for residual or dormant malware and take new daily backups that are tested on a frequent basis
B. Restrict administrative privileges and patch ail systems and applications.

C. Rebuild all workstations and install new antivirus software

D. Implement application whitelisting and perform user application hardening

Answer: A

NEW QUESTION 200

A security engineer needs to implement an MDM solution that complies with the corporate mobile device policy. The policy states that in order for mobile users to
access corporate resources on their devices the following requirements must be met:

» Mobile device OSs must be patched up to the latest release

« A screen lock must be enabled (passcode or biometric)

« Corporate data must be removed if the device is reported lost or stolen

Which of the following controls should the security engineer configure? (Select TWO)
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A. Containerization

B. Storage segmentation
C. Posturing

D. Remote wipe

E. Full-device encryption
F. Geofencing

Answer: DE

NEW QUESTION 202
A technician needs to prevent data loss in a laboratory. The laboratory is not connected to any external networks. Which of the following methods would BEST
prevent the exfiltration of data? (Select TWO).

A. VPN

B. Drive encryption

C. Network firewall

D. File level encryption
E. USB blocker

F. MFA

Answer: BE

NEW QUESTION 205
A pharmaceutical sales representative logs on to a laptop and connects to the public WiFi to check emails and update reports. Which of the following would be
BEST to prevent other devices on the network from directly accessing the laptop? (Choose two.)

A. Trusted Platform Module
B. A host-based firewall

C. A DLP solution

D. Full disk encryption

E. AVPN

F. Antivirus software

Answer: AB

NEW QUESTION 206
An end user reports a computer has been acting slower than normal for a few weeks. During an investigation, an analyst determines the system is sending the
user's email address and a ten-digit number to an IP address once a day. The only recent log entry regarding the user's computer is the following:

Which of the following is the MOST likely cause of the issue?

A. The end user purchased and installed a PUP from a web browser
B. A bot on the computer is brute forcing passwords against a website
C. A hacker is attempting to exfiltrate sensitive data

D. Ransomware is communicating with a command-and-control server.

Answer: A

NEW QUESTION 207
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